(esj %‘%ﬁ% Global Soul Limited

smtmachine-spareparts.com

SMT FUJI Filter AA19HO00 FILTER SMT Machine Spare

Parts
Basic Information
o Place of Origin: China/Japan b;‘s‘
O o Brand Name: fuji
(e o Model Number: AA19HO00 / AA19HO01 / AA19H02
=
ne) e Minimum Order Quantity: 1 PCS
o o Price: USD-+negotiable+pcs
CC)' o Packaging Details: 10*10*5 cm
9.- o Delivery Time: 1-7 days
S « Payment Terms: T
~—
8 o Supply Ability: 1+pcs+per days
o
C
(@]
=2
o
>

Product Specification

o Brand Name: FUJI
. o Product Name: Filter
o
5 o Model Number 1: AA19H00
3 « Model Number 2: AA19H0!
g « Model Number 3: AA19H02
(% « Model Number 4: AA19HO03
g « Model Number 5: AA19HO4
o « Model Number 6: AA19H05
(%]
2 o Model Number 7: PH00572
Z, « Model Number 8: PH00575
C
g o Model Number 9: AA19HO06
3 o Condition: New Original/New Compatible
% « Highlight: AA19HO0 SMT FUJI Filter,
) SMT FUJI Filter AA19H00, AA19H00 SMT Filter
S
=
(0]
)
©
o
3
o} More Images
w
o
e} .




Product Description

Fuji spare parts for sales instore :

AA19HO00 FILTER
AA19HO1 FILTER
AA19HO02 FILTER
AA19HO03 FILTER
AA19H04 FILTER
AA19HO05 FILTER
PH00572 FILTER
PH00575 FILTER
AA19HO06 FILTER
119PA103 BOARD
208-2GT-2 TIMING BELT
295-5GT-9 TIMING BELT
360-5GT TIMING BELT
405-5GT-9 TIMING BELT
545-5GT-9 TIMING BELT
608ZZ BEARING
632P8M25 TIMING BELT
760P8M40 TIMING BELT
1056P8M25 TIMING BELT
1120P8M40 TIMING BELT
1520P8M40 TIMING BELT
1722-3GT-12 TIMING BELT
2100-3GT-9 TIMING BELT
2340-3GT-12 TIMING BELT
2706 Oil and Grease removing agent
6002ZZ BEARING
6004ZZ BEARING
6202ZZ BEARING
6304ZZ BEARING
82403-CPCI-400MH2-64MB BOARD
1488801 FILTER
A12GD25 VALVE
A12GD25-1L-Z VALVE
A12PD25-1P VALVE
A12PD25-1S VALVE
A1037W VALVE

A1040E SENSOR
A1040M SENSOR
A1042A SENSOR

A1042T SENSOR

A5053C RING

A5129A RING

AA1ZX03 SHAFT
AA2GB03 SHAFT
AA06A06 NOZZLE
AA19HO01 FILTER
AA19HO3 FILTER
AA19H04 FILTER
AA19HO05 FILTER
AA30A02 SHAFT
AA32X02 SHAFT
AA17700COVER
AA76002CLAMPER
ABTRG1152JOINT
ADBTN8120TRAY
ADCPA8111 CYLINDER
ADCPH3010 HOLDER
ADCPH3011 HOLDER
ADCQK8010 PIN
ADCQK8020 PIN
ADEPN8961 NOZZLE
ADETR8067TRAY
ADNAJ8310GLASS CHIP
ADNGC8231HOLDERLIGHT
ADNGC8411HOLDER
AEEPN4001 BOARD
AFM3000-02 REGULATOR
AGFPH8013 SHAFT
AGPL9030 MIRROR ASSY
AJRG0577ADAPTER
AMPH9026HOLDER
AP-13 SENSOR
ASQC8054 PIN
AWPH3088 SHAFT
AWPH3115HOLDER

O
=
=
ny)
—
]
o
o
Q
—
=]
—
=
o
o
o
Q
=F
o
>

woo'syedaieds-sulyoewWwlWS Uo sn JisiA asea|d sjonpo.d aiow 1o}



AWPH3120 SHAFT

AWPL8012 SHAFT

AWPM8020 SHAFT

AWPQ9011 LEVER

AWPQ9022 LEVER
AWSZ8020BALL SCREW
AWSZ8043BALL SCREW
AXT309-5M-X4 VALVE
AYPH3130 SHAFT
BHPN3050SPRING

BHPP1440 BELT

BHQCO0150 BELT

BHQC1180 BELT

Biral TD GREASE

BK81010A BEARING

BK81015A BEARING

BSM 8x10-1EA BEARING
BTQCO0091 BELT
BTRG0521ADAPTER
CACR-44-FK1CSY1A DRIVER
CACR-60-FK13SCAM AXIS DRIVER
CACR-HR01BAB12Y50 DRIVER
CACR-SR0O1AC1ERY102 DRIVER
CACR-SR03BC1KSY264 DRIVER
CACR-SR05BC1ESY278 DRIVER
CACR-SR10BC1ESY262 DRIVER
CACR-SR15BC1AFY276 DRIVER
CACR-SR15BC1KSY392 DRIVER
CACR-SR15BC1KSY396 DRIVER
CACR-SR30BC1AFY244 DRIVER
CACR-SR44BC1BFY279 DRIVER
CACR-SR44BC1CSY414 DRIVER
CACR-SR60BE13SY112 DRIVER
CDAS16x15 CYLINDER

CFS5V BEARING
CG-9702-FSMONITOR

CP91D BOARD

CQC2190 BELT

CS8630i CAMERA

CQC2325 BELT

CSQC0700 BELT

CSQC1350 SENSOR

CSQC1340 SENSOR

CSQC2190 BELT

CSQC2465 BELT

CSQC2575 BELT

CSQC3080 BELT

CSQC3160 BELT

CSQC5142 PLATE

CSQC5152 PLATE

CSQC5162 PLATE

CSQC5381 SENSOR

CSQL0271 CYLINDER
CSQL0260 CYLINDER
CSQC5371 CARRIER JAW
CSSX0030 COVER

CSSY0322 COVER

CSSY0342 COVER

D-A73 SENSOR

DBPP0310 BELT

DBPP1750 BELT

D-C73 SENSOR

DCGC0140 UV LAMP

DCGCO0150 UV LAMP

DCPA0172 COUPLING
DCPA0230 BELT GEAR
DCPA0240 BELT GEAR
DCPA0250 BELT GEAR
DCPA0701 SHAFT

DCPAOQO711 SHAFT

DCPA0730 SHAFT

DCPA1121 GEAR

DCPHO0050 GEAR

DCPH630 FILTER

DCPH0641 CLUTCH

DCPH0680 VALVE

DCPH1132 SPRING

DCPH3780 FILTER

DCPKO0050 CUTTER

DCPK0400 CUTTER



DCPLO190 JAW
DCPL0100 HOLDER JAW
DCPQ0180 ROD,JOINT
DCPQ0190 ROD,JOINT
DCQC0290 BELT
DCQC1590 BELT
WSZ1031 Z A AXIS SLOPE
WSZ1110 BAR, GUIDE
WSZ1111 BAR, GUIDE
WSZ3260 TABLE PIN
XC-75 SENSOR

XH0012 FILTER
XK00874 NOZZLE COVER
XK03720 COVER
xs01802 VALVE

XS03690 VALVE
YPH0191 SHAFT
YPJ0670 SPARE PART
YPKO0060 CUTTER
YPK0170 CUTTER
YPM5010 HOLDER
YQC0210 BELT
YQC0211 BELT

Global Soul Limited sales@gs-smt.com

SMT FUJI Filter AA19H00 FILTER | GSSMT, AA19H00 FILTER, AA19HO01 FILTER, AA19H02 FILTER, AA19H03

FILTER, AA19HO04 FILTER, AA19HO05 FILTER, PH00572 FILTER, PH00575 FILTER, AA19H06 FILTERFUJI SMT filter
replacement, FUJI SMT filter parts, FUJI NXT filter, FUJI machine filter, FUJI SMT equipment filter, SMT filter for FUJI
machines, FUJI pick and place filter, FUJI SMT spare parts, SMT filter maintenance FUJI, FUJI SMT filter supplier, SMT filter
compatibility FUJI, FUJI NXT H24 filter, FUJI filter replacement guide, SMT line filter FUJI, FUJI CP filter, FUJI AIMEX filter,
FUJI SMT filter cost, FUJI SMT filter catalog, FUJI SMT filter price, SMT filter Fuji NXT, Fuji CP series filter

(=321 Global Soul Limited

@ +8613728696610 e liyi@gs-smt.com @ smtmachine-spareparts.com

Room F3B-016, B Block, Hao Yun Lai Bussiness Building, Liutang road , Bao'an District , Shenzhen, China



	AA19H00 SMT FUJI Filter
	SMT FUJI Filter AA19H00
	AA19H00 SMT Filter

